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Question 1: Multiple choice: circle the best answer to each question:

(1)[2 points] A census attempts to include data from

(u) u simple random sample.

(b) a stratified random sample.

(c) all adults of voting age in a population.
.4.

((d))al l  individuals in a population.
\-/

(e) all special interest groups in a population.

(2)12 points] 65% of 400 first year Malaspina students surveyed said that the experience of first

year students is positive. This value of 65% is

(a) a parameter.

(b) u voluntary response.

(c) a convenience sample.

(d) a completely randomized sample.
.^
(9 u statistic.

(3) [2 points] In what type of data gathering are treatments imposed on individuals?

(a) a census.

(b) u sample survey.
/f.\
(9 un experiment.

(d) a an observational study.

(e) a telephone poll.

(4)12 points] In a recent study of 83 heavy trucks, 31% were found to have tire pressure less than

B0% of the recommended level. The heavy trucks in this example represent

(a) explanatory variables.

(b) response variables.
/ 4 . .  1 .  '  I
((c))individuals.

(d) strata.

(e) a census.

(5) [2 points] A surveyor is attempting to assess the popularity of Britney Spears by standing

outside a music store and asking customers if they would or would not buy her latest release.

The sample in this case is

(u) u simple random sample.

(b) u voluntary response sample.
/n
(9 u convenience sample.

(d) a matched sample.
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(e) an unbiased sample.

(6) [2 points] A researcher wants to use a computer program based random number generator to
select an SRS of size 5 from a population of 100 labelled 0, 1, . . . ,99. The random number
generator returns the f ive values 0,t,2,3,4. Assuming the computer program is working
correctly, the researcher should

(a) reject the random numbers since they're obviously not random.

[i1) ur. the given random numbers since that combination is just as likely to come up as any
\- -7

other combination of five numbers.

(c) start again using a bigger sample size.

(d) keep drawing random numbers, keeping only the even ones.

(r:) kcep drawirrg rarrrklrn rrurnbers until five colnc up that look tmly randorn.

(7)12 points] Using line 117 of the table of random digits (use Table A from your book) we select
an SRS of size 4 from a class of 30 students labelled 00, 01, . , . , 29. What individuals make
up the SRS?

(a)  38,  16,  79,  85

(6) ro, 18, 06, 23
\-z
( c )  16 ,  18 ,26 ,  2 I

(d) the table carrnot be used since all the numbers are five digits long.

(e) the table cannot be used because the individuals are labelled improperly.

(8) [2 points] A random survey 387 workers at a national polling firm found that 39% of them
rlislikr:rl participating irr sllrveys. Assurning a" 95To levcl of corrfidcncc, thc rrtalgirt of elror itt
this studv is

(a) approximately 95%.

(b) approximately 39%.

(c) exactly 5.1%.
r-^,((9 unp.o"imately 5.1%.

v SRSt orJ oF 5oLr, t t tonr j
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(e) cannot be determined because the sample is biased.

(9) 12 points] Suppose two surveys are done to determine the percentage of the population in
favour of new transit fees. The second survey uses a sample size four times as large as the
first. The margin of error in the second survey is approximately

(a) four times the size of the first.

(b) twice the size of the first.
/4,
((c)) half the size of the first.

(d) one quarter the size of the first.

(e) cannot be determined because we need at least one sample size to be given.

a
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(10)[2 points] Using a completely randomized experimental design, we wish determine the effect
of washing clothes using different combinations of cleaning agents. The combinations are: soap
alone, soap plus bleach, and finally soap plus bleach plus baking soda. Water temperature
may have an effect on the outcome, so the clothes will be washed at different temperatures:
cold, warm, and hot water. There are 9 treatments in total. The explanatory variables in this
case are

7^

(a,, water temperature and cleaning agents used.

(b) nine in number,

(c) lurking.

(d) the same as the response variables.

(e) cannot be determined because of the randomized design.
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Question 2 A cell phone company wishes to determine the market share of its competitor, so a
random sample of Nanaimo residents is drawn from the telephone book (which does not list cell
phone numbers). The individuals are contacted and asked whether they have a cell phone, and if
so, with what service provider. 35.8% of the people surveyed state that they use the competitor's
service.

(")[a points] The margin of error in the study was2.5To (assumirrg ag5% confidcnce level). Ap-
proximately how large was the sample? Round your answer to the nearest person.

=  o , o z {

\
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(b) [3 points] How many people sampled said that they use the competitor's service?
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(b) [3 points] What might cause bias in this result?

t:; *-'i;( "n' 7; U'' r:: ""
5o <xc/u<Aes frnoJe lnat'n4"a'$

o
C o

phane b c,o /<
PLu+n tb* l  ,  

t

,-'tho L.(54 C-/'(

Substq";(vlLones eX&nSt hatt ^
TrT o* F. 5 rna.r l(et . p . 4 o f 6



Math 161 - Practice Test 1
Sep-Dec 2OO7

Question 3 A medical study is designed to test the effectiveness of a new drug which is supposed to

reduce the number of pain episodes in arthritis sufferers. A test group of 300 subjects (all arthritis

sufferers) will be randomly assigned to three treatments: 200 mg of drug, 500 mg of drug, or a
placebo.

(") [+ points] Draw a diagram to outline the design of the study.
all of the information above.

G-y
Zoo r@l

o
\

t "s t
subJects
( z o o )

Pl'aceb o

(b) [3 points] What are the explanatory variables in this case? What possible values can they

take?
-fk- 

eypbn"*to7 va-v,4,u fs Lat dol" o+

ore V€cn+,&o!.

r,/a- ( r-tfJ q,-€?ossi tte

(c) [3 points] What are the response variables? What would be an appropriate way to assign

values to them?

Tl"e- rf,Ponse v o,vr^Lle- is t;t v1o-n ld- 4 pa+k\

-f ts,rlei > u)L'^ct' Co^H 6" c4tt't'ht<J ?'n fJ*

.P i stdr-"J P*{ *fuA # lto*'p tveaftw'e'tt '

Make sure your diagram includes

f :
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Question 4In a recent telephone poll, 491 of 1002 eligible Americans voters surveyed indicated
that they wished to see the Democrats in the White House next year.

(") [Z points] State the population, in this survey.

E ltgiLb- A*'erica*w v*te'rs '

(b) [3 points] Compute p, the estimated proportion of Americans voters who wish to see the
Democrats in the White House next year.

0I  l o o L

(c) [3 points] Calculate the margin of error in this survey assuming a 95% confidence level.

vv\^,.A;v- "+ evv'ov' = 
# 

: 3'ZZ
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rrsu 7 .tin;ite ,+%atrica-n vctte-,,r5 > ebe( rul's 4u

*\aLfti: z+

(d) [2 points] State your findings, including the estimated proportion of Americans voters who
wish to see the Democrats in the White House next year, the sample size, and a confidence
statement.
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